Math 0090 Lab Worksheet #10

Objective: Solve problems #1 - #10 involving radical expressions. #11 through #15 are review
problems.

. Simplify. V252
A, 263
B. 328
C. 67
D. 746
2. Perform the indicated operation. V35410
A 24175
B. 514
C. 7450
D. 1445
3.
3. Perform the indicated operation. —5/8+24/18
A =326
B.  -3J10
c. -2
D. -42
4. Simplify. J12x0)°
A. 6x°y*
B. 2x° y4\/§
C.  24/3x%°
D. 4y’ y4\/§
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5. Perform the indicated operation. — 342052 +2/125x°
A. —4/145x
B. —xJ/10
C. — 10x
D.  4xV5
6. Perform the indicated operation. — 4420 + 2445 +164/5
A 1445
B. 185
C. 14430
D. 14470
7. Perform the indicated operation. —7+/18x +34/98x
A. —8v2x
B. —+/2x
C. 0
D. \2x
3
8 Simplify. 9x4
A. X
9y
B. X
9y
Txx
C. >
9y
3
p. X
9y
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9.  Simplify.  (9a*b*)
A 3d®b\b
B. 3a°b’
C. 45a°bb
D. 454’
1 1
35,2 3
10.  Simplify. 2+
Py a0
A, 0
B. 1
C. vy
kil
D. y?
11. A stereo system is marked 25% off. If the original price of the stereo system was

$1,550 and the sales tax rate is 8%, what will the total cost of the stereo system

be?

A $511.50
B. $1,162.50
C $1,255.50
D $1,517.50

12. Solve forx. 3x+2y=3
2x—4y=-14
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13.

14.

15.

One factor of x? —14x—32 is

A. (x—16)
B (x—28)
C. (x—=2)
D (x+4)

What is the area of the shaded part of the following figure?

A. 107 m’
B. 12.57m’
C. 257 m’
D. 50 7 m*

About 7 out of 10 people entering a community college need to take a refresher
math course. If the college has 950 students, how many will probably need

refresher math course?

665 students
685 students
700 students
1375 students

Cawp
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